EPFHY

4—SXx¢
M
SN RF LM/ R R <+ LMERE R ~F
NGRS =E | EE | KE
M w Ls B C ds SX{ L W W, M
EPF 7M 8 17 31.6 12 13 5 M2X2.3 | 29.6 7 5 5
EPF 9M 10 20 37.8 15 16 7 M3X2.8 | 35.8 9 5.5 5
EPF 12M 13 27 43.7 20 20 7 M3X3.2 | 41.7 12 7.5 6.75
EPF 15M 16 32 56.5 25 25 7 M3X3.5 | 54.5 15 8.5 9
SE) ATRES AR AYARIEMR RLMB R  LMALE R SRERE# R I T 540
TEENFI R E A RIFRIME R STHERE M.
PFREL S B9 R £
EPF7M 16 +55L P M
- 1 -1 T
NHBEE LMEE K BE Sttt
(B {Imm) TEEWERAE)
FIETHE
(8 fImm) BRSO

Cx1)2RM1-87.

E)ZAMAES BB T AR,

N1-178 THIK

B HAEX THIBERARSTFE A
NFRELS KGR

https://tech.thk.com




Le1
C
] c
=
g o 1 i
‘ ‘ ¢ | ! } [ pad
. ‘ Wl W . @
Mi h ‘ Iy ‘ ‘ :E\ g
T ) = T T [l T T
MNEL o
G F
BT mm
RIEITIE | EAFEHE BB IE Nom* RE
® Co M Ms Mo LMFEER | LMERIE
~ = il I
& F diXd:Xh St KN [ kN | == | (] ,&, [ e kg kg/m
5 | 15 |2.4X4.2X2.6 16 0.90 | 1. 60 5.08 5.08 5.26 0.019 | 0.230
7.5 | 20 | 3.5X6X3.3 21 1.00 | 1.87 6. 81 6. 81 7.89 0.036 | 0.290
10 | 25 | 3.5X6X%3.8 27 2.26 |3.71 15.5 15.5 20.8 0.074 | 0.550
15 | 40 3.5X6X4 34 3.71|5.88 33.0 33.0 41.3 0.136 | 0.940
EEESEIFE I NNBRIERS T IF NIEE
REIZHRATMEED SRR BN #x2 BIEIHRXE BN
ZERENEE DNRES B NRAE
ARES | AR
53 HH BH EPF 7M 20
EPF 7M M2 0.588 | 0.392 | 0.294 EPF 9M 20
EPF 9M EPF 12M 30
EPF 12M M3 1.96 1.27 0.98 EPF 15M 30
EPF 15M ) RERBREKARIFREM S H M EE, BT

EFECE=ER1-493

BOBRENIREN AR AR EF RN, REFRER S E R

2o

MREUTIER TERRT, EETHCE .

- EEERAR

© EADERTHERAT

© AIT{EGxHESHAIMNDRAT
© SRR E R
TN, HRET RIFFFEAN, LIS RIERBRIE L.
XERT, HEAERENENR IR,
HREHREBZIR PR AEU RIS,

ALK

A1

-179





